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UIL ACCOUNTING

District 2003-D2

Group 1

For each account title in questions 1 through 7, write the identifying letter of the correct response (A, B, or C) which indicates whether each account should be closed and where, or if it should not be closed at all.  If the account is to be closed, indicate whether that account is closed with a debit or a credit.  Use the following sets of codes.  An answer might appear in this way:
B  DR





A. closed to Income Summary

DR=debit





B. closed to the capital account
CR=credit





C. not closed

1. Repairs Expense

2. Luke Tate, Withdrawals

3. Sales

4. Prepaid Insurance

5. Purchases Returns & Allowances

6. Cash

 *7. Income Summary (when beginning inventory was $10,000; ending inventory was 

    $12,000; and there was a net loss of $3000.  Revenues and expenses have already

    been closed).

Group 2

For items 8 through 16, indicate the location where each is written on an income statement for a service business illustrated below.  Write the correct identifying letter on your answer sheet.
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  8. Words Income Statement


13. Amount of the net income or net loss

  9. Section heading Expenses


14. Amount of the revenue item

10. Section heading Revenue


15. Amount of each expense item

11. Titles of the individual expense accounts
16. Words Total Expenses
12. Title of the revenue account

Group 3

Jackie Betts started a new business.  Each item #17 through #23 represents the accounting equation after a transaction has been recorded.

	
	
	
	Accts.
	
	Office
	
	Accts.
	
	Betts
	
	
	
	

	
	Cash
	+
	Receivable
	+
	Equip.
	=
	Payable
	+
	Capital
	+
	Revenue
	- 
	Expenses

	17.
	50000
	
	
	
	
	
	
	
	50000
	
	
	
	

	18.
	25000
	
	
	
	75000
	
	50000
	
	50000
	
	
	
	

	19.
	25000
	
	5000
	
	75000
	
	50000
	
	50000
	
	5000
	
	

	20.
	35000
	
	5000
	
	75000
	
	50000
	
	50000
	
	15000
	
	

	21.
	33000
	
	5000
	
	75000
	
	50000
	
	50000
	
	15000
	
	2000

	22.
	36000
	
	2000
	
	75000
	
	50000
	
	50000
	
	15000
	
	2000

	23.
	21000
	
	2000
	
	75000
	
	35000
	
	50000
	
	15000
	
	2000


Analyze the above equations and determine the type of each transaction that occurred using the following code:

A. Bought an asset for cash only

B. Bought an asset on credit only

C. Bought an asset with cash paid down and the balance on credit

D. Owner invests in business

E. Payment of a liability

F. Billed a customer for services provided

G. Took out a loan and deposited the proceeds

H. Performed a service and received cash

I. Customer paid on account

J. Recorded an expense paid with cash

K. Owner withdrawal of cash

Group 4

For questions 24 and 25, write the correct amount on your answer sheet.

Data: 
Bank Service Charge for January is $12



Deposits in transit on January 31 are $4,680 and $518



Reconciled bank balance on January 31 is $2,003



Outstanding checks on January 31 are $3,719

 *24. Given the above facts, what was the amount that was printed on the bank 

      statement as the closing balance for January 31?

25. What was the balance in the cash account in the accounting records prior to

      reconciling the bank statement?

Group 5

The following chart summarizes the activity in the petty cash fund of a business for two months.  Calculate the amounts needed to complete the blanks in each line.  Cash short must be indicated by brackets or parentheses.  Write the correct amounts for questions 26 through 29 on your answer sheet.

	
	
	
	
	Actual Cash
	Cash
	Amount

	
	Opening
	Increase
	Vouchers
	Before
	Over
	Needed to

	Month
	Balance
	In Fund
	Totaling
	Replenishment
	<Short>
	Replenish

	Apr 1
	150.00
	
	
	
	
	

	Apr 30
	150.00
	-0-
	139.20
	13.90
	* #26
	#27

	May 31
	150.00
	50.00
	183.60
	#28
	* #29
	185.10


Group 6

The following information comes from the accounting records of two separate businesses.










Company 1

Company 2
December 31, 2001:


Assets……………………………………………….
   $11,419

   $15,760


Liabilities…………………………………………….
       4,499

       4,220

December 31, 2002:


Assets……………………………………………….
     16,790

     63,835


Liabilities……………………………………………       16,740


?

During 2002:


Owner Investments…………………………………       8,000

     10,000


Net Income (Loss)………………………………….
          ?   

     64,870


Owner Withdrawals…………………………………       1,000

     29,000

Answer questions 30 through 32 by writing the correct amount on your answer sheet.  Use brackets or parentheses to indicate a net loss.

  30. What is the amount of owner’s equity for Company 1 on December 31, 2001?

* 31. What is the amount of net income or net loss for 2002 for Company 1?

* 32.  What is the amount of liabilities on December 31, 2002 for Company 2

Group 7

Analyze the equations in items 33 through 40 for a business that uses an account called Transportation In.  If the equation is true, write TRUE on your answer sheet; if it is not, write FALSE.

33. Net Sales minus Cost of Delivered Merchandise equals Cost of Merchandise Sold.

34. Gross Profit plus Cost of Merchandise Sold equals Net Sales.

35. Cost of Merchandise Sold plus Ending Inventory equals Cost of Merchandise 


Available for Sale.

36. Net Income plus Total Expenses equals Net Sales.

37. Purchases minus Transportation In equals Cost of Delivered Merchandise.

Group 7 continued

38. Assets plus Owner’s Equity equals Liabilities.

39. Cost of Merchandise Available for Sale minus Beginning Inventory equals Net 


Purchases.

40. Cost of Delivered Merchandise minus Purchases Returns minus Net Purchases 


equals Purchases Discounts.

Group 8

A company’s unadjusted and adjusted trial balances on December 31, 2002 are as follows.  For questions 41 through 44, write the identifying letter of the best response on your answer sheet.

	
	Unadjusted
	
	Adjusted

	
	Trial Balance
	
	Trial Balance

	
	Debit
	Credit
	
	Debit
	Credit

	Cash
	4,000
	
	
	4,000
	

	Office Supplies
	2,800
	
	
	1,500
	

	Merchandise Inventory
	60,820
	
	
	62,500
	

	Prepaid Insurance
	4,600
	
	
	2,400
	

	Equipment
	50,000
	
	
	50,000
	

	Accounts Payable
	
	12,600
	
	
	12,600

	Doris Hart, Capital
	
	48,720
	
	
	48,720

	Doris Hart, Drawing
	5,000
	
	
	5,000
	

	Income Summary
	
	
	
	
	1,680

	Sales
	
	190,000
	
	
	190,000

	Purchases
	118,100
	
	
	118,100
	

	Rent Expense
	6,000
	
	
	6,000
	

	Office Supplies Expense
	
	
	
	1,300
	

	Insurance Expense
	
	
	
	2,200
	

	        Subtotals
	251,320
	251,320
	
	253,000
	253,000


41. The amount of unexpired insurance on December 31, 2002 after adjustment was:


A. $2,200
B. $2,400

C. $4,600

D. $7,000

42. The amount of office supplies used during 2002 was:


A. $1,300
B. $1,500

C. $2,800

D. $4,300

 43. The total of the Adjustment Debit column is:


A. $1,820
B. $3,500

C. $5,180

D. $6,450

44. What is the amount of net income that would be reported on the Income Statement 


for the year ended December 31, 2002?


A. $59,080
B. $62,400

C. $64,080

D. $65,900

Group 9

For questions 45 through 52 write the identifying letter of the best response on your answer sheet.

 *45. A business did not record its expired insurance at the end of the fiscal period.  All 


insurance premiums had been recorded in Prepaid Insurance.  What effect would 


this error have on the following?











  Capital



  Assets

 Expenses
   Net Income        (after closing)


A.
 overstated

overstated
   understated
overstated


B.   unaffected 

understated
    overstated

unaffected


C.  understated

unaffected
    overstated
   
overstated


D.  overstated

understated
    unaffected

understated


E. none of the above

46. If there is an addition error in the total of a single-column purchases journal, the 


error


A. will not be detected


B. will be discovered with the Schedule of Accounts Receivable


C. will be discovered with the Schedule of Accounts Payable


D. will be discovered with the trial balance


E. none of the above

47. The form of the balance sheet with the liability and capital sections printed below 


the asset section is referred to as the


A. vertical format
C. account form


B. horizontal form
D. report form

48. Which of the following errors would leave the trial balance in balance?


A. a journal entry credited to Sales Tax Payable and incorrectly posted as a debit


B. a journal entry debiting Supplies for $650 and incorrectly posted as a $560 debit


C. a journal entry debited to Rent Expense instead of Advertising Expense


D. all of the above


E. none of the above

49. If there is a net loss for the fiscal period, the amount of the net loss would appear 


on the work sheet in the


A. income statement debit column; the balance sheet credit column


B. income statement credit column; the balance sheet credit column


C. the income statement debit column; the balance sheet debit column


D. the income statement credit column; the balance sheet debit column


E. none of the above

Group 9 continued

50. The total of a single-column purchases journal would be posted to ___ as a debit 


and ___ as a credit.


A. Accounts Receivable; Sales


B. Accounts Payable; Sales


C. Accounts Payable; Purchases


D. Purchases; Accounts Payable

51. Accounts Receivable is a ___ because its balance must equal the total of all the 


account balances in the ___.


A. controlling account; subsidiary journals


B. asset; general ledger


C. controlling account; subsidiary ledger


D. driving account; accounts receivable subsidiary ledger

52. How often posting occurs depends on


A. the size of a business


B. the number of its transactions


C. whether the posting is done manually or by computer


D. all of the above

(The test is continued on page 7.)

Group 10

Consider questions 53 through 61 independently and write the correct amount on your answer sheet.

Consider the following data for questions 53 through 58 only.

Montana Co. pays its employees an hourly wage, overtime at 1½ times the regular rate for all hours worked over 8 in any weekday, and overtime at 2 times the regular rate for any hours worked on Saturdays, Sundays, and holidays.

During the week ended March 9, 2003 Allen Marx worked as follows.  His regular rate of pay is $11.50.

	Day
	Total Hours

Worked

	Monday, March 3
	12

	Tuesday, March 4
	8

	Wednesday, March 5
	11

	Thursday, March 6
	10

	Friday, March 7
	6

	Saturday, March 8
	4

	Sunday, March 9
	1

	Total for Week
	52


53. How many regular hours did Allen work?

54. How many total overtime hours did Allen work?

55. What is the amount of Allen’s regular pay?

56. What is the amount of Allen’s total overtime pay?

 *57. What would be Allen’s total gross pay if he had worked 9 hours on Monday and 9 


hours on Friday with the other days remaining the same as above?

 *58. Consider the original list of hours worked.  If Wednesday had been a national and 


company holiday, what would be Allen’s total gross pay?

Group 10 continued

Consider the following data for questions 59 and 60 only.

The following employees of Nevada Co. are paid an hourly wage plus overtime at a rate of 1½ times the regular rate of pay for each hour worked over 40 in a week.  The company is closed on weekends and there was not a national or company holiday this week.

	Employee
	Hourly

Wage
	Mon
	Tues
	Wed
	Thur
	Fri

	Ted Jones
	$9.00
	8
	7.5
	13
	8
	7

	Donald Day
	$11.50
	10
	9
	9.5
	11.5
	11

	Addie Baylor
	$10.25
	9
	8
	9
	9
	4

	Armando Diaz
	$14.00
	11.5
	9
	13
	7
	6


59. How many overtime hours did all of the employees work for the week?

 *60. What is the total gross pay for all of the employees for the week?

Consider the following data for question 61 only.

The sales clerks of Donna’s Dress Shop are paid a salary per week plus a commission of 5% on all the sales they make according to the following:

	Sales Clerk
	Weekly

Salary
	Sales for

The Week

	Janice Keeler
	$200
	$2,485

	Lori Jackson
	$225
	$3,258

	Nikki Price
	$210
	$3,145


61. What is the total gross pay for all of the employees for the week?

Group 11

Refer to the data in Table 1 on page 10 and answer questions 62 through 72.  You may remove the table pages and work sheet for your convenience.  On your answer sheet write True if the statement is true; write False if it is false.

62. The amount on the work sheet in the Adjustments Credit column for Supplies is 


$2,075.

63. The amount of Prepaid Insurance in the Trial Balance column of the work sheet is 


$4,580.

64. The amount of Merchandise Inventory on 1-1-02 was less than the amount of 


Merchandise Inventory on 12-31-02 by $2,125.

65. The cost of delivered merchandise is $84,325.

Group 11 continued

66. The withdrawals account is closed with a $15,000 credit to the withdrawals account 


and a debit to the capital account for the same amount.

67. The subtotal of the Income Statement Debit column before net income or loss is 


calculated is $159,140.

68. The amount of Supplies in the Trial Balance column of the work sheet is $3,750.

69. The cost of merchandise sold is $141,725.

70. The year 2002 resulted in a net loss.

71. The closing entry that includes the Purchases account consists of a debit of 


$145,850 into Income Summary.

72. Immediately after net income or loss is closed, the Income Summary account will 


have a balance of $15,000.

Refer to the data in Table 1 on page 10 and answer questions 73 through 80.  Write the correct amount on your answer sheet.

 *73. What was the amount of supplies on hand on 1-1-02 before any 2002 transactions 


were recorded?

 *74. What was the amount of insurance premiums paid during 2002?

75. What was the balance in Jim Sawyer’s capital account on 1-1-02 before any 2002 


transactions were recorded?

76. What is the amount of net purchases?

**77. What is the amount of the balancing total in the Trial Balance columns of the work 


sheet?

**78. What is the subtotal of the Balance Sheet Credit column before net income or loss 


is calculated?

 *79. By what amount would the ending balance of capital have been overstated if the 


three asset accounts had not been adjusted?

 ***80. What is the amount of net income or loss for 2002?

This is the end of the exam.  Please hold your exam and answer sheet until the contest director calls for them.  Thank you.

Table 1

(for questions 62 through 80)

The following accounts and normal balances appear in the adjusted trial balance columns of the work sheet for the year ended December 31, 2002.  A work sheet form is provided on page 11 and is optional.  (The work sheet will not be reviewed by the contest director or graders but should be returned with the test materials.)

	Account Title
	Amount
	
	Account Title
	Amount

	Cash in Bank
	26,850
	
	Purchases
	84,265

	Accounts Receivable
	18,410
	
	Purchases Discounts
	3,785

	Merchandise Inventory
	55,275
	
	Purchases Returns & Allowances
	4,935

	Supplies
	1,675
	
	Transportation In
	8,780

	Prepaid Insurance
	4,580
	
	Advertising Expense
	1,410

	Delivery Equipment
	50,840
	
	Bank Card Fees Expense
	850

	Store Equipment
	87,920
	
	Delivery Expense
	3,750

	Accounts Payable
	50,710
	
	Insurance Expense
	8,290

	Sales Tax Payable
	12,450
	
	Maintenance Expense
	6,725

	Jim Sawyer, Capital
	184,100
	
	Miscellaneous Expense
	410

	Jim Sawyer, Withdrawals
	15,000
	
	Rent Expense
	6,000

	Income Summary
	2,125 (dr)
	
	Salaries Expense
	8,000

	Sales
	150,420
	
	Payroll Tax Expense
	720

	Sales Discounts
	6,780
	
	Supplies Expense
	2,075

	Sales Returns & Allowances
	4,210
	
	Utilities Expense
	1,460

	
	
	
	
	


Additional Information:

1. The owner made an investment of $50,000 during 2002.

2. The amount of unexpired insurance on 1-1-02 was $6,720.

3. The amount of supplies purchased in 2002 was $2,270.

	

	Work Sheet

	

	Account Title
	Trial Balance
	Adjustments
	Income Statement
	Balance Sheet

	
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit

	Cash in Bank
	
	
	
	
	
	
	
	

	Accounts Receivable
	
	
	
	
	
	
	
	

	Merchandise Inventory
	
	
	
	
	
	
	
	

	Supplies
	
	
	
	
	
	
	
	

	Prepaid Insurance
	
	
	
	
	
	
	
	

	Delivery Equipment
	
	
	
	
	
	
	
	

	Store Equipment
	
	
	
	
	
	
	
	

	Accounts Payable
	
	
	
	
	
	
	
	

	Sales Tax Payable
	
	
	
	
	
	
	
	

	Jim Sawyer, Capital
	
	
	
	
	
	
	
	

	Jim Sawyer, Withdrawals
	
	
	
	
	
	
	
	

	Income Summary
	
	
	
	
	
	
	
	

	Sales
	
	
	
	
	
	
	
	

	Sales Discounts
	
	
	
	
	
	
	
	

	Sales Returns & Allowances
	
	
	
	
	
	
	
	

	Purchases
	
	
	
	
	
	
	
	

	Purchases Discounts
	
	
	
	
	
	
	
	

	Purchases Returns & Allow.
	
	
	
	
	
	
	
	

	Transportation In
	
	
	
	
	
	
	
	

	Advertising Expense
	
	
	
	
	
	
	
	

	Bank Card Fees Expense
	
	
	
	
	
	
	
	

	Delivery Expense
	
	
	
	
	
	
	
	

	Insurance Expense
	
	
	
	
	
	
	
	

	Maintenance Expense
	
	
	
	
	
	
	
	

	Miscellaneous Expense
	
	
	
	
	
	
	
	

	Rent Expense
	
	
	
	
	
	
	
	

	Salaries Expense
	
	
	
	
	
	
	
	

	Payroll Tax Expense
	
	
	
	
	
	
	
	

	Supplies Expense
	
	
	
	
	
	
	
	

	Utilities Expense
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	


